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QUESTION 1

Which option represents the basis on which approval routing policies can be defined? 

A. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels, Approval Groups, Organization Hierarchy 

B. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels 

C. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels, Approval Groups 

D. Employee Supervisor Hierarchy, Position Hierarchy, Grades, Approval Groups, Organization Hierarchy 

Correct Answer: C 

 

QUESTION 2

As an implementation consultant, you are in the process of building the enterprise structure. Which three facts about
Legislative Data Group must you be aware of? (Choose three.) 

A. Legislative Data Group supports the configuration of objects with a strong legislative context, such as payroll,
absence types, elements, and rates of pay. 

B. Legislative Data Groups do not span enterprises. 

C. Legislative Data Groups can span enterprises. 

D. It is required to associate country and currency details while defining Legislative Data Group. 

E. Each Legislative Data Group can contain only one legal entity that acts as a payroll statutory unit. 

Correct Answer: ABD 

 

QUESTION 3

Grade structures (grades, grade rates, and grade ladder) were configured for your customer and the required employee
assignment data was migrated to the system. However, there was a change in requirement and the customer decided to
delete some grades because they were no longer used. When you try to delete one such grade from the system, the
system throws an error. 

Identify three possible reasons for the system error. (Choose three.) 

A. There are assignment records of one or more employees associated with this grade. 

B. The grade has grade rates defined. 

C. The grade is linked to a grade ladder. 

D. A grade cannot be deleted and can only be made inactive by changing the status to "Inactive". 

E. A grade cannot be deleted and can only be end-dated. 
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Correct Answer: ABC 

 

QUESTION 4

Which three are actions types supported by the Change Assignment guided process, used by an HR Specialist? 

A. Extend Temporary Assignment 

B. End Assignment 

C. Extend Probation Period 

D. Suspend Assignment 

E. Add Work Relationship 

Correct Answer: ABD 

https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r13/nfs/r13-2018- global-hr-nfs.htm 

 

QUESTION 5

Your customer wants to know how many employees are leaving the organization on their own. Identify the correct
sequence of steps that you need to perform to meet this requirement. 

A. Create a new action > Create a new reason and use it during termination. 

B. Create a new action type > Create a new action > Create a new action reason and use it during termination. 

C. Create a new action reason and associate it with the available action type. Use it during termination. 

D. Create a new action type > Create a new action reason and use it during termination. 

E. Create a new action > Associate it with an existing action type > Create a new action reason and use it during
termination. 

Correct Answer: C 
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